| R=22=9R7110F /7110FA/7110FB,/7110FT Eron AMED

| BASE ELEMENTS 7110F /7110FA/7110FB,/7110FT

PAT.P No.E-9700F

S45C WA REE) 240
MR- ffifsR
RIS —RIALS * IRAETEE S
F—5"—No. No. RCEY B kg iz
# 904455 | 7110F-12-3 M12 30 0.32 58,000
* 904456 7110F-16-3 M16 40 0.65 62,000
D—IRF94F * IEAETEE S
#—5'—No. No. RUFY f=n Bikg s
* 904459 7110FA-12-3 M12 30 0.45 108,000
* 904460 7110FA-16-3 M16 40 0.95 142,000
O—94 7 (RILRTUA) * IEAELEER
F—5"—No. No. AU @EE) B kg il
* 910986 7110FB-12-1 M12X1.75 8 0.09 26,100
* 910987 7110FB-16-1 M16X2 12 0.19 29,900
g O—94F(TROVRA) * IEEIEER
= T
; Z+—5"—No. No. RUFUEE) =ny BHEkg A&
2 %910988 | 7110FT-12-1 | M12x1.75 12 0.14 36,000
E %910989 | 7110FT-16-1 | M16X2 15 0.26 37,800
RIS —RIA S D—0%2(394F O—94 7 (RILNTUA) O—5+ F(TROVNE)
®F OF
o) fifas [0 Pany | ) | L
1 Bed ] JTeesd ©ED 4 oD 4
| J
K
' JK DI E.LF ELF |l a
C C
E
Iﬁ % =7 F%_V—V_li %
Ta ] < | |
s ; LJ - < ! <
1T /T = | . T
G / i ‘ i
C ! J \
BYA xR
RIVT—RIAF

No. A B  C D E F Gc@® = H o K L
7110F-12-3 30 25 65 30 19 125 MI12x1.75 18 10 125 20 40
7110F-16-3 40 30 80 40 25 17 M16X2 25 15 16 25 50

I—0BIFILF

No. A B  C D EF G@EE) | KOO | Sk L M N
7110FA-12-3 | 30 @ 25 88 30 235 125 MI2X1.75° 25 : 35 0 20 40 19 : 18 = 10
7110FA-16-3 | 40 30 110 40 28 17 M16X2 30 41 25 50 25 25 15

O—54 7 (RILKTRE)

No. A : B C D E : F G : H 1(GEE)
7110FB-12-1 8 25 65 12.5 216 18.8 16 27 M12X1.75
7110FB-16-1 12 30 78 14 25.6 24.8 22 33 M16X2

O—547(TROvHA)

No. A B . C oD E  F G Ho [ JEEE)
7110FT-12-1 12 30 65 25 12.5 18.8 216 16 23 M12x1.75
7110FT-16-1 15 40 80 30 16 24.8 25.6 22 30 M16x%2

. v SINCE 1560
44?2 CADF—959y0—K - EERAE Web ¥ bT! [ 7~V \ uj\ NABEYA co, L.
2023.7.21




